A & 0l & A & F Al
20179 & =S0lah LB &
SN LD
=R ST PS
Sl XA deg2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=1 743,769 705,690 38,079
Mz A 600,230 492,571 107,659
XA X2l 535,558 492,571 42,987
NEA MgdHo 28 &= 535,558 104,764 430,794
101 @14 dl 37,930 0 37,930
4 D12t ZE2XREES 37,930 0 37,930
OX&A =JI0XAN &3 JI2ZHM2 2 X A 15,374
e = 6,470 «BAl 2t x1H <21« 11& 11,957
—F5d 6,4703 «8BAl 2t x1H +5=+ 112 2,847
—Qx=g 6,470 «8AI 2t x1H « 113 570
OXEAM =IJIDXMN && JIZHIZX MY
= 1,855
—Jl=s 7803 «BAI 2 x1Hx21L x11& 1,442
- =54 7803 +BAI 2t x 1B x5F+11& 344
S DN R 780 «BAI 2t 1H 118 69
OX&A =JIDXM &= JIZHI 2L EEZ 1,736
— =303z 17,229,000& =45/ 1,000 776
—d2d=2E 17,229,000% *30.6/1,000 528
—LoAINREEE 528,000& *65.5/1,000 35
—1E2E 17,229,000& *15/1,000 259
—&THEE 17,229,000& *8/1,000 138
OXZM Mt & S JIA2M2 2R 2A
=l 15,374
—Jl=s 6,4703 «BAl 2tx1H 21+ 118 11,957
— =5 6,470 R *8Al 2t x 1H x5 118 2,847
S PN ER= 6,470 *BAI 2t x1H « 113 570
OXNEA MEet & =d JI2MI 2L M
2= 1,855
—JlE2s 7803 +BAI 2t x1H*21L x11& 1,442
T84 780 *8AI 2tx1H x5 #1113 344
—HxX=g 7803 «BAIZtx1H x 118 69
OXEgA Mgt & = JI2HM=22 28
= 1,736
— =203 17,229,000& =45/ 1,000 776
—d22E 17,229,000% *30.6/1,000 528
—LoAINREEHE 528,000& *65.5/1,000 35
—1E2E 17,229,000& *15/1,000 259
—&THEE 17,229,000% 8/ 1,000 138
201 L2 | 344,958 82,964 261,994
01 At 22l 122,650 35,180 87,470
OXZMN MEDXM 144 758+100,00024 x53! 37,500
OUEIINELYR =2 15,850

_47_




M 1

ol Hge 2

S YA M 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—OlHUl A RS2
80& 170,000 13,600
—Zolgs HSEHIX MEIIES=EZ
15,000,000& x63] x2.5% 2,250
ONSHEY EI 4A2F FgHI
20,0003 x1CH+128 240
OZ2MUY =2 S MEH2HI
200,000& 50 10,000
ORst 8L SIIEFE 25
1,000& =10,000 10,000
Ol S 8Zds+ 23 ISl
50,000& 12 600
OMEgE8Zd+-23aH 28 A2F U
300,000& =122 3,600
Oz F & SNHLSHHA 08 20,020
— U5 oA 2 22X AMHIA
(4403 +2,50024 ) +(55& *160,00021 ) 9,900
—HE XNZA HH MHA 7,920,000 7,920
— MEOOH 233 MHIA 2,200,000& 2,200
OMEX 48288 X3MHA 082 10,600
—UOoIAHIIAE(F) 5,300,000& 5,300
— 220U RZE(F) 5,300,000 5,300
OMEX tizxsl == 2,000& +3,300A 6,600
OJIEtHH LREE =2 3,000& »800AH 2,400
OXNgAM EXF7L 3,000
—NgNaR 100,000& 102 1,000
—AEANHER 50,000& x10& 500
— ALA A 50,000& *x30A 1,500
O&XZeA=SAI EH 2D
70,000 x1CH*12& 840
OME BSEHIX 2RAJ Z 4l
7,000 1009 *23| 1,400
02 2324l 222,308 47,784 174,524
OXZA 28t Meg2elAlA8s X2
975,000& »12& 11,700
OMEXE SAUMAIAY KX E =4
(361,000% =122 «1CH )+(338,000& = 12& »2CH ) 12,444
OME Xz asm AXAAE BYS3 S/WP
2 14,500, 000& 14,500
OXNEgAH RERS 173,328
— &I 1,930& 8004 122 18,528
— Bt 300& *43,0004 123 154,800
Ot = 8,136
—slds SMES
(45,0002 *13CH*12& )+(20,000& *3CH x12& ) 7,740
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SN B
M MY zAs
S YA M 2el (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—dE3E 25020 493
11,0003 =3CH«12& 396
OZEXNH(MEE+2=SE) E8E
550,000& =4 H 2,200
202 O4dl 20,080 5,000 15,080
01 = LH 4 Hi 20,080 5,000 15,080
OMEN =85 0l
(200,000& *34% *23| )+(200, 000& *9H +23] ) 17,200
OMYM 283 Ol (HAH)
20,0003 x2H 62| «12& 2,880
203 YR =&l 3,600 1,800 1,800
03 AIMF=XH R =AH| 3,600 1,800 1,800
OXgd=> g2=2 3,600,000 3,600
303 Z& 3 124,000 15,000 109,000
01 243 124,000 15,000 109, 000
OXZMN ME Z&= 30,000,000& =43l 120,000
ONYNESESEIEZANAE 2H I Al &
4,000,000& %13 4,000
405 THobF S| 4,990 0 4,990
01 AL EFH S 4,990 0 4,990
SHE HsHIXs Loy ¢
750,000 30K 2,250
OUEItE FUHEZ M2 7L
350,000 »2CH 700
OfsSEIXNE dstetoil ¢
180,000 »3CH 540
OJeix=Mg [JXNEHld 2 (KL )2
300,000 »5CH 1,500
M2l Xg2el 64,672 0 64,672
NG S8 64,672 0 64,672
201 L2l 24,672 0 24,672
01 At 22l 24,540 0 24,540
ONENESEDLXNMN M= 483 50, 0000H 2,400
OAMe+=2 ME2XAM X2
180& +3,5004 43| 2,520
OMel+ ALY M4 ABHE 242
4,000,000& «12& *2.5% 1,200
OMel+g MY PSM 45 L HA+22
1,000& 1,000 1,000
OJNAAHE 018 =2 80& *22,500A 1,800
OFX H2YFE O3 15,620
— 23 2 HMAEIA 3,300,000& 3,300
—HZE NA=+ HAAMHIA 7,920,000& 7,920
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M 1

g MgH x4z
(S

R MALL M2l (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
—NEFENHA 2,200,000& 2,200
— HJ&EOOIEH &s3AHA 2,200,000& 2,200
02 E2=2=2%H| 132 0 132
O0lsAl JtEcY)] SARS
11,000 x1CH =128 132
303 ZA& 2 40,000 0 40,000
01 LAZ2 40,000 0 40,000
OE T MU Mg ALZMAZ
10,000,000& =4 3] 40,000
SHM A AH (R 1) 143,539 213,119 A 69,580
olad 2 A Y| 52,609 58,571 N5,962
oled A Y| 52,609 58,571 AN5,962
101 21 214| 52,609 58,571 AN5,962
02 JIEtE 2 % 52,609 58,571 A5,962
OX A MRS AlIZEMIH SR ol HH| 47,799
—-Jl23 1,582,910& 2 128 37,990
- JIEx¢ 60,000 2H x12& 1,440
— NESHIEX S 465,330& x 1 43| 1,862
— A2 EXH| 52,500 »2H x12& 1,260
— M ZAH| 78,000& 2 x12& 1,872
— D2 Ak
1,582,910 x84%*86%*1/30Al 2t x1/4A| 2+ x2H 687
*36A| 2+
— X224 4,000 2 x28A 2+ 12 2,688
OX A M AIZEHAHSE 8862 4,810
— =203 47,799,000 *45/1,000 2,151
—2A2AEE 47,799,0002 x30.6/1,000 1,463
—LOo&AIAEE  1,463,000& «65.5/1,000 96
— 11288 47,799,0002 x15/1,000 717
—MIHEE 47,799,000 8/ 1,000 383
Jl2 &l 90,930 154,548 N63,618
Jl2 &4l 90,930 75,828 15,102
201 et | 36,720 31,308 5,412
01 AP 22| H| 36,720 31,308 5,412
OFMdS8goI248] 36,720
— 22 Y| 40,000 «34% x12& 16,320
— g 2| 50,000& x34H x12& 20,400
202 044l 48,960 40,320 8,640
01 2L I 48,960 40,320 8,640
HE=XI| 20 Y| 120,000& x34H x12& 48,960
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n0

Kio

Hl w

240
240

810
810

H3r
Wikd
RIS

4,200
4,200

Off &t 24

4,440
4,440
4,440

810
810
810

K]
KF
ok
ol

[und

2 *49))128

(5,000

4+

=

=

(350,000

S

405 KHakH

[

21 *3JH

e

270,000
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